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Instructions for Candidates
Write your Roll No. on the top immediately on receipt of this question paper

1. :

2. For SOL students, the question paper is divided into three sections, Part A (30
marks), Part B (20 marks), and Part C (20 marks). Attempt three questions
from Part A, any two gestions from Part B and any twe questions Part C.

Question number 1 from Part A is compulsory.

3:
Answers may be written either in English or Hindi; but the same medium should

4.
be used throughout the paper.
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(Q-1 is mandatory. Attempt any two questions out of the remaining three questions.)
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(a) Define the following (in not more than 25 words) (1x5=5)

(1) Soil erosion (i) Lithosphere (i) Primary productivity
(iv) Geothermal energy (v) Vermicomposting (vi) Wetlands

(b) State whether True or False ;
(1) Energy.flow in an ecosystem is unidirectional.
(if) Tundra ecosystem has trees as the dominant producer community.

1

(1x5=5)

(i) Renewable energy resources are also called as conventional energy

resources.
(iv) PM  has larger diameter as compared to PM, |

(v) Mangrove forests are highly productive ecosystems
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Write short notes on any two of the following : (2%l
(a) Ganga Action Plan
(b) Harmful impacts of mining on environment
€¢) Ecosystem services :
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(a) What is land degradation? Briefly explain its causes? . ()
(b) Discuss the social, €conomic, and environmental impacts of"
desertification. : (5)
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Critically examine the various reasons due to which rivers in India contiﬁye to }i
remain highly polluted despite various government initiatives and legislations.  (10) g 18
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Part B
(Attempt any two out of three questions.) (= ¥ ¥ ¢ 3 yueg Fiforg)

Given below are three out of the seventeen Sustainable Development Goals (SDGs)
formulated by the United Nations in 2015. :

| Sustainable Development Goal . Description
! SDG 2 [ Zero Hunger End hunger, achieve food security and improved
nutrition and Promote sustainable agriculture

[SDG6 | Ciean Water g Ensure availab; '
Sl e . ty and Sustainable management of
SDG 11 Sustgxml?l_c citiesand | Make cities and human settlements inclusive, safe,

communities | resilient and sustainable . -
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Consider a country ‘X’ which has a vast coastline and is situated near to the
equator. Following is the data on the coal consumption of this country, which has
huge reserves of coal but where the government has also planned to substantially
reduce coal usage to almost zero by year 2050.
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Based on the above data, answer
(i) Make a time-series plot of the coa

(ii) Critically examine the coal consumption

Year |  Coal usage (million tonnes)

f | Fr fiae @R

2011 50 S|
2012 80 |
2013 e 100 4
2014 130

Tl RS S
2016 180 |
2017 220 |
i S
2019 | s el
n2g| - 180:
BT R .

the following questions :

| consumption pattern from 2011-2021.

impact on the socio-economic and environmental conditions.
country should adopt to substantially reduce

(iii) Suggest some measures that the

greenhouse emissions and air pollution by the year 20507 (3)
mﬁm&mm,mwﬁ%miz _
(@) 2011-2021%aﬂu@taﬁm%ﬁmaﬁw—qmwﬁzmn
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(3)

trend of the country and discuss its

(4)
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B Jow is the diagram of a food web found in a particular €cosy
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Based on the diagram, answer the below questions :
(a) Identify the type of ecosystem. (1)
(b) Comment on the biotic and abiotic features of this ecosystem. (3)

(c) Based on the any food chain shown in the diagram, draw and explain pyramids

of number, biomass, and energy. (6)
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Part C

(for SOL students only : Attempt any two out of three qucstioris)
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8. Finding new sources of energy will drive the sustainability of nations in coming -
decades. Discuss. - (10)
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9. Analyze the importance of restoring ecosystems and conservin

biodiversity fi
protecting the cultural heritage of India. e Y
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks

4. Answer either in English or Hindi. The same medium
should be used throughout the paper.
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I. (a) Write whether True or False (1x5 = 5)

(1) Himalaya is considered as one of the oldest

mountain ranges of the world

(i) Some plants can be used to produce fuel

(1ii)) Agriculture is characterized by low

biodiversity

(iv) Climate change concept has contradictory

views

(v) Arvalli hills are recent in origin
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(b) Define the following with example (any five):

(2x5=10)

(1) Wildlife
(i1) Species
(ii1) Biosphere reserve

(iv) Priority pollutants

(v) Savana

(vi) Sustainability

P.T.0.
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2. Differentiate between the following (Attempt any
three): (5x3=13)

(i) Appiko Movement and Chipko Movement

(i) Biosphere and Biotic Communities
(iii) Botanic garden and Zoological Park

(iv) Climate Change and Weather Change

(v) Ecosystem Functions and Ecosystem Services
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Write short notes on any three of the following:

(5x3=15)

(i) Lahd Degradation

(i) Environment (Protection) Act

(iii) Swachh Bharat Abhiyaan
(iv) Oil spills

(v) E-waste

P.T.O.
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(v) F-w=m

(a) Why is sustainable development so often

(b)

associated with protecting the environment?

(7

JATIROT  HIE0T aﬁmﬁaﬁﬁaﬂa%mﬂ@am
27

With the help of an example, explain women's

role in environmental conservation. (8)
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What are the major squrces of air pollution? How

does it affect respiration? Briefly explain measures

that can be taken to prevent air pollution.

(15)
Y T T B R D A6 T A R e
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Dloscuss various environmenta] laws and policies
prevailing in India to mitigate environmental issues.

7. What are renewable and non-renewable sources of
energy? What are the advantages of using renewable

sources of energy?Discuss some promising renewable
sources in India.

(15)
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TG, AA F I T & T A 7 A ¥

TS FAGTNE WA R = W)

P.T.0.



1999A .8

8. Provide a concise explanation of the 5Rs of waste

management. Justify the statement, "Waste segregation
is seen as a fundamental step for effective solid waste
management. However, it is rarely practiced in India."

(15)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Please answer any five of the following questions.
3. All questions carry equal marks.

4. Answers may be written in Hindi or English, but the
same medium must be used throughout.
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. What do you understand by developmep

3321 2
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S per capitg
income a good measure of developmeng

"Most hypotheses that have beep proposed to explain

the origins of poverty and prosperity don't work and

fail to convincingly explain the causes of world
inequality,” Would yoy 4

feasons for your answer,

T R TR I W

gree ? Elaborate, giving
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Explain the Concept of the ne]cphant curve". H(l\l\\-

. + x 1 “( Y
does it help tq fundamentally explain the politically
controversijg] Nature of globalizﬁtion?
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4. ‘Poverty lineg are

as much politicy as scientific
1cons.tructionS »

Eiaborate.

R iy

What are the issues involved with discounting climate
change? Evaluate the opinion that €nvironmental
concerns should haye [ower priority compared to
growth objectiyeg for the developing countries.

W@qﬁaﬁqaﬁmaﬂ%#aﬁ?%ﬂ%m%’?mm
mﬂﬁmﬁ%ﬁmﬁa%ﬁa}mﬁmﬁ%@ﬁfaﬁ
Wﬁ@hmnﬁzﬂ"ﬁﬁaﬁa%mﬁmmﬁa@m.

6. “The impact of income on capabilities is contingent
and conditional” Do you agree ? Elaborate.

VA W I w AN iR IR U 2 T o3
TR 27 famr ¥ sasul

How important is the role of reputation of the producer
if poor countries want to benefit from trade
liberalization? What steps can a country take to ease

o -
T€putation acquisition by firms*

P.T.0O:




3321 4
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8. Discuss briefly the lessons that may be learnt from
the history of globalization over the last two centuries.

Aot o safeal A P D IEE T G Y TS B
AT A == Sifoe |

O. Write short notes on any two of the following:
(a) Happiness, wellbeing and development
(b) The Lorenz curyes as a measure of inequality.

(c) Impact of globalization on the self-employed in

developing countries.
(d) The theory of coordination failure.
P ¥ ¥ el @ e Wi R e
() WIETeH, SHeamy 3K fae!
T gp————— L
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(@) wrag e @ @@ !
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt any four questions.

3. All questions carry equal marks.

4.

Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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3. Explain the patterns of settlement ang fm'liﬁcati
‘ ons

. at Lalkot,
e e o R B R )

4. Examine the development and changing ¢;

SCape of Delp ;
centuries, with special reference any one of the ” )c.lhl between 10th to 14th
N , owing —
(a) Anangpur Fort, (b) Dili-i-Kunha’g MflSjid.i_j

Kilukhari, (e) Tughlugabad and (f) Firuzapag ami, (c) Siri, (d) Ghiyaspur-
= ¥ Tt ges & s 9 10
= 1o G v e

() SR e, () et -~ ot AR~ ey (1) 9%, () o P,
(¥) T, (I) s |

~ 1491 e N R 2 R sie T -tz (dsET)

5. Highlight the significance and characteristics of the a
Garden Tomb. -

iymizﬁiﬁﬁ%”aﬁ#tﬁﬁﬁ%iﬁ?ﬂﬂgﬁhﬁi%‘wgﬁiﬁhﬁmhﬁﬂﬁfqzuamﬂzﬁ¥l

rchitecture of Humayun's

6. Discuss the prominent social and cultural aspects of the Imperial city of
~ Shahjahanabad in 17th Century.

7R I D W WE WEEAE D W ah S ae s w e
IR | |

7. What were the political, social and cultural ‘changes’ in 18th century Delhi?
Explain with suitable examples.

183 e feeht F o WK & o, i i Weps TR 10 ? IR
SR R Aoy wwREA |

'Write a short note on any two of the following:

@ Tilpat & panipat  (b) Siri (¢) Charbagh

_(d) Bazaars of Delhi I (e) Jafar Zattali

.("’ﬁ)ﬁm@a;mﬁm. (@) @ () T
% Ptdamm  (5) Swoqew

(10,000)
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Instructions for Candidates

‘1. Write your Roll No. on the top immediately on receipt

of this question paper.
2 Attempt all questions.
'3 FEach question carries equal marks.

4 Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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T
1. (a) Explain the challenges faced by an intcx;ﬁ%tional

entreprenecur in this globalized world. (8)

(b) “Entreprencurs provide creative and innovative

solutions to society’s problem”. Comment.  (7)

OR

What is Entrepreneurship and it’s features? Discuss

the various Entrepreneurial skills. ‘ (3,4,8)

(3r) =@ Iedigw R ¥ TF Sy I D A A
el THIRA & ARAT o)
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2. (a) Discuss the various risks which an entreprencur :

faces while launching his venture. . 8):

(b) Discuss the various reasons which give rise to.

conflicts in family business? (7)
OR

' . e
“Entrepreneurs are driven by need for achlevementz_.

Discuss the statement. Explain the various mtrms;ic
insi i ' ' T,
and extrinsic factors which motivate an entreprencu

(15)

p.T.O.
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3. (a) Explain the dimensions of Project feasibility

sfud .
: (8)

(b) What are the various sources an entrepreneur can

use to generate business jdeas?

(7)



3052 5
OR
-', Explaiin the vérious steps, an entrepreneur should

: undertake to start his own venture and launch it

successfully. | | (15)

:Ka)qﬁﬁﬁm‘ammﬁm AT HJEEN AT

Gl

E'(Fq') QEFBEF% I T e T e g
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4.

6
[
! o
(a) Explain the functions of Self Help Group. (8)

(b) How does SIDO promote Entrepreneurship?

(7)

OR

“It is difficult for entrepreneurs to raise finance”.
Comment. Discuss the various long term sources

of funds available to an entrepreneur in India.

(15)
(3r) T WEE WE D wE A e

(@) SIDO Jufar @t 9 wemar dmr 27
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5. Write short note on any thi'c.c: '(5><3=15)_
(a) Cash Management for a new venture
(b) Myths E’lt?()lll an cntrepreneur
(¢) Marketing plan for a new venture
(d) Social entrepreneurs
| (e) Prototype centers
oo e Gl e ol
(ar) T :}mr % fog el wEE

(;q) gl & N e
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Name of the Course .. Ability Enhancement Course
Semester el |
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- Maximum Marks 50 (Part A: 30; Part B: 20)

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper..

2. For regular students, the question paper is divided into two sections, Part A (30
marks) and B (20 marks). Attempt three questions from Part A and any two
from Part B. .

3. Question number 1 from Part A is compulsory.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

Bl @ forw Adw _
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: Part A _
(Q.1is mandatory, Attempt any two questions out of the remaining three questions.)

(o g 1 SfFaE 21 A Al wEl F R e @ S IR Ak

(a) Define the follovﬁng in not more than 25. words “(lany five) =~ (1x5=%)
(i) Hydrosphere (i) Homeostasis (n}) Grassland
(iv) Land degradation = (v) Fossil fuels (vi) Pollutant
- (b) State whether True or False ' . (1x5=5)
(i) United Nations has formulated 15 Sustamable_Development Goals.
(i) Plastic straw is an example of single-use plastic.
(iii) E-waste is a biodegradable waste.
(iv)_Appiko movement took place in the state of Uttar Pradesh.
(v) Deserts are highly productive ecosystems.

(31) e @ siftreen 25 W ¥ R <A ()
' (i) S -HET (i) R (i) =T T
e R ) i
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(i) il T Rt aw wenfeee T T Iawaw 21
(iii) & -0 TR = BT 2l
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(v) e s Seqrees aikftafis @ 2

Write short notes on any two of the following : i (5%2=10)
(a) Primary succession on barren land
(b) River water conflicts

(c) Multidisciplinary nature of environmental studies

ffien w e fewfint fofew (@ & we W)
(31) SR i W el SoaiRER

@) & SwEE

(@) walerur SEaa o TEAART

(a) Explain the various anthropogenic causes of deforestation. )
(b) Briefly discuss the importance of mangrove forests. (5)

(31) aﬁﬁw%ﬁfﬁiﬁwﬁaﬁﬁamﬁwﬁml
=) ﬁ@aaﬁ%wﬁaﬁwﬁﬁﬁql

Discuss the various steps and measures that need to be taken for conserving
water in agrlcultural areas and metropolitan cities. (10)

Y & ﬁ?ﬁmﬁ%mmﬁmmaﬁaﬁﬁﬁqm aﬁtaqr&ra?raﬂ?

i1l

: Part B _
(Attempt any two out of three questions.)

(T & & = < v i)

‘Sustainable manufacturing can be defined as the creation of manufactured

products through economically-sound processes that minimize negattve
environmental. impacts while conserving energy and natural resources.

- Keeping this in mind, devise a sustamablhty framework for an automotive
/industry that manufactures two-wheelers by suggesting at least two sustainable

measures for each parameter given in the table below

(10)
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LSRR Gl S —
D T X AR A M v 2 5 oot ﬁwmmwﬁﬂa@
IR AT S R e 31 2% oA et gy, AR A
T S R T o oy ot el o g ¥ g e e AT
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Sustainabilify parameter Suggested Measures (atleast two for each parametcr)

WWWWW%%EW&W#})_____

Water Consumption
9T T T
Energy consumption
FSIT Y FID

Carbon Emission

FET IqAT

Waste management and Pollution
reduction '

.| zrafare wEue SR ygur # et

6. As.a member of the college eco-club, you have been given the responsibility of
starting a composting/ vermicomposting unit in your college campus. Prepare a
proposal for the same to be discussed with. college authorities, focussing on the
below points: _

(a) Uses and adirantages of composting/ vermicomposting. - 3)
(b) Sources of waste for composting/ vermicomposting on the céllege

campus. - (3)
(c) Step-by-step plan to construct a functional composting/ vermicomposting
unit. : : ' “4)

‘W@‘W%W%mﬁmaﬁmﬁﬂmmﬁaﬁmm
ﬁéﬂﬁ%ﬂﬂﬁﬁﬂﬂ%l_ﬁ%ﬁvmﬁgﬁmm%ﬁﬁmﬁ@m
2 iR @ W T o & o T T qaR

(ﬁ).wﬁﬂmﬂﬁm%ﬁu‘rﬁﬂ ' mﬁa@%a}mm%aﬂl
(@) mmmm%wamwamm,

7 Ba"se.d on the diagrain given below, answer the questions.

& e T SRE D R W T D IR A

RO
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Mule deer

s
M'k ;MSHJA b A\!\lﬁl e :r:}{u\? . i‘fwi-i i, W
Ii, (I‘l \fq{l "5“ ‘“ \;;[‘r Qi’h I.h'f [: i \.1}1'1 IL-pg 'I.J . \.’. il 3 .;‘&}1 } A ’1?\{. 2\l

{I-i T

: (f; .n, e r:) A ‘
gjf\“)/“} “U \T‘ \l”\} ll/l‘ \{] f\\ d‘i h\\llr i 'I"| I“‘ L}“ t\\ ﬁf:l\ f'{;HL\i} \\{ l\lu’ t'}{‘!ﬁ

Grasses

Grasses = |TH, Mule deer = %{'UT Butterfly = ﬁﬁ?ﬁ Coyote = #f34T, Flycatcher = HEHTT
Jackrabbit = @TIer, Pronghom Wﬁ"ﬁf%’(‘ﬁ Hawk = =191

(a) Identify the type of ecosystem stating appropriate reason. (2)
(b) Comment on the biotic and abiotic features of this ecosystem. (3)
(c¢) Draw a functional food web consmtmg of all the organisms shown in the
diagram. _ (3)
‘(d) Briefly mention the impOrtance of this ecosystem. - @2y’

() IgET RO F §Y RAT & YR & YgAH Hifi

@) WW@@W@(&@%@W&#WMWI
(@) s ¥ R g wR Y Freew v e e 3 T
(3) =@ IRad D Wewd @1 98T i Jooi@ gl

(10,000)
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Instructions for Candidates . : _

L. Write your Roll No. on the top immediately on receipt of this question paper-

2. For regular students, the question paper is divided into two sections, Part A (30
marks) and B (20 marks). Attempt three questions from Part A and any two
from Part B. %

3. Question number 1 from Part A is compulsory.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper. : ‘

B @ foe Adw

1 T UE-TE @ fem & oW Ry v iR @ w o s fakae

i oF @ fe, we 73 @ @) ¥ Rl 2, 9uT T (30 3iw) sk s a (20 3 |

NWT U ST Vo qAT T S A S a T | g

3. N1 U ¥ WeT € | a2 o
mm—wmmmmﬁﬁﬁﬂ%wwﬁﬁﬁwﬁﬁﬁwmmmwﬁhﬂﬁv 1

Part A
(Q.1 is mandatory. Attempt any two questions out of the remaining three questions.)

(e w1 S 21 A e a ¥ @ @ S W Ak

1 (a) Define the following (in not more than 25 words.)“ ' (j.x-5=5)
(i) Soil erosion (i) Lithosphere (“f) Primary productivity
(iv) Geothermal energy (v) Vermicomposting (Vi) Wetlands

2,

(b) State whether True or False (1x5=5)

(i) Energy flow in an ecosystem is unidirectio
(ii) Tundra ecosystem has trees as the domina
(iif) Renewable energy resources ar¢ also call
. resources. _ |
'(iv) PM,, has larger diameter as compared to PMys:
(v) Mangrove forests are highly productive gcosystems.

(o7) PR Y St 25 e ¥ oo T (@ T
O IRE L @wmw . @TO
= (1V) sl_ﬁrﬁm' Eﬁ‘ﬁ : ) Tﬁ -(c-ng (f‘) _ﬁ : PTO

nal.
nt producer community.

ed as conventional energy
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(@) T 8 A T T -

(i) @Wﬁa??fwwﬂgqmmaﬁmﬁl
(i) @Wﬁaﬁﬁﬁmmﬁlw%mﬁﬂgﬁl
(iif) Wmmﬁﬁmﬁaﬁﬁwﬁmm%l
@) PM, S0 G ¥ pM_ a1 gt A B
(v) T T ST geqree R 9 B
9. | Write short notes on any two of the following :
(a) Ganga Action Plan

(b) Harmful impacts of mining on environment
(c) Ecosystem services

o ¥ ¥ Bl @ w v Wiy R R :
(37) TN T = . '
(¥) TR R @A D EwRE o
(@) TRRaRER w3 dJ@@

3. (a) What is land degradation? Briefly explain its causes? (5)
(b) Discuss the social, economic, and environmental impacts of

‘ desertification. (5)

(3r) s e v 27 7D HON A ww K w@wr -
() e & AR, e S wawia weral o <= R

(5x2=10)

4. Critically examine the various reasons due to which rivers in India continue to
remain highly polluted despite various government initiatives and legislations.  (10)

T Gl T SR e o SIaE WA ¥ ARt st it B @ it s

1 ST TAe R
Part B

(Attempt any two out of three questions.) (= ¥ ¥ <1 & wer Wfow1)

5. Given below are three out of the seventeen Sustainable Development Goals (SDGs)
‘formulated by the United Nations in 2015.

Sustainable Development Goal | Description
SDG2 | Zero Hunger E“:!’h_““gﬂ, achieve food security and improved
nutrition and : -
21 and promote sustainable agriculture
SDG 6 Clean \.Vater and Ensure availability and sustainable management of
- Sanitation water :
. . T ———
SDG 11 | Sustainable citics and | Make cities and human settiements inclusive, safe
communities resilient and sustainable S
———— 2 Slin

Select any two SDGs and briefly discuss five steps (for each SDG) that need to
be taken by any country to achieve the same by the year 2030.
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g T B R fo g v et Fehre el () 3 @ e e R e
AT fawr ey Rrerzor |
ET P pe

TETE Y THTH FTAT, T G sie E—
FTAT AT FETS: FIO F1 w@mar T A e

6 | e st | aqrefy i e st qe e v w
g

THESA 11 | ey oy aie gt Si W ARt T warasfy, R, wfiar o
Tt fere T

et 2 TSl ot =i X e o 2030 TR T W A D (oI fendl 0 21 BT FoI
T AR T A (e wd @ ) W wA ¥ =

6. ‘Consider a country ‘X’ which has a vast coastline and is situated near to the
equator. Following is the data on the coal consumption of this country, which has

huge reserves of coal but where the government has also planned to substantially
reduce coal usage to almost zero by year 2050. |

T W W X’ R frar Y Rraa e e e ? 3l s Y & fae fuw 231w
I D DA W @I B Jde Feferiad 3, e woe @ Qe s @ afe wist
TWEHER ¥ ¥ 2050 9 T & IYART D T T FA Aol oS 8

Year Coal usage (million tonnes)
Frae &t @qa (e =
2011 50
2012 | - 80.
3 2013 100
2014 130
2015 150
2016 180
2017 220
2018 230
2019 250
2020 180 -
2021 300

Based on the above data, answer the following questions :
(i) Make a time-series plot of the coal consumption pattern from 2011-2021.  (3)
(ij)' Critically examine the coal consumption trend of the country and discuss its

impact on the socio-economic and environmental conditions. @)
(iii) Suggest some measures that the country should adopt to substantially reduce
greenhouse emissions and air pollution by the year 20507 - - 3)

S RS B IR W, Pl v @ I .
@) 2011—2021%aﬁuﬁaﬁwa_mqaﬁw-mﬁawn

B0,
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(if) xﬁﬂﬁﬂéﬂﬁmﬁﬁﬁmmmﬁ 3R ATy - S

(i) T§ 2050 T AT Irworr Gk A1 TEA H HE 7T T o 0y B I
Wmm'mfﬁ:g%mﬁ FUAET ART?

7. Below is the diagram of 4 food web found in & particular ecosystem.

M T TRRIRE ¥ oy sy wr @ SR B

Squid
\:@:‘.

A

K,ﬁx LN Sgagull

Pengt:lin T " H’ﬁ}
\ P _' Blue Jyhale :

Plankton
Based on the diagram, answer the below questions :
(a) Identify the type of ecosystem. : (1)
(b) Comment on the biotic and abiotic featurés of this ecoslystem. 3)

(c) Based on the any food chain shown in the diagram, draw and explain pyramids
of number, biomass, and energy. (6)

Yer-fm @ R w AR Ry T T @ I AR

(3r) TRRefes T & FHR H TE=H ,

(@) z@ wRaa @ A i stion s w ol i

(@) R ¥ Tuts I fordit e el SR W T, Sawr o sl @ R T
GRIBCEEEM)

(10,000)
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N yrr-ga & e §

IR Ry g i wa@ T T
SR AT | ™
Ol g & I AR
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T W - T 1 SR S a1 R e e s F S, Wi
¥ ITRI ST AN UeF & 21 1R |

(a) “Wealth maximization is a better criterion than
.profit maximization “Do you agree? Explain. (8)

(b) Explain the Time Value of Money Concept. What
are the factors affecting the Time Value of

Money? (7)

OR

(a) “Financial Management has expanded in its scope
during last few decades”. Examine the modern

approach to the scope of financial management.

(8)
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(b) The cost of the plant is T10 Lacs. It has an
hich it would be

). Profit before

estimated life of 5 Years after W

disposed off (Scrap Value — Nil

Depreciation, Interest, and Taxes (PBIT) is

%3.50 Lacs p-a. Find out the yearly
he tax rate @

(7)

estimated to be
cash flow from the plant (given t

30%).

2. (a) B Ltd is considering two proposals _I and II with

the following details :

Items Year Proposall | Proposal Il
Investment 3 19,000 3 40,000 \ |
Cash Inflows | Year 1 | 8,000 716000 |
Year2 | 8,000 Z 16,000
Year 3 Z9.000 Z 24,000

You are required to suggest the most attractive
proposal based on the NPV method considering

that future incomes are discounted at 12%. Also,
find the IRR of the two proposals. (8)

(b) What is meant by capital budgeting decisions?
What are its main features? Why do NPV and
IRR techniques of evaluation of capital budgeting

(7)

lead to conflicting project ranking?

BT O



)

OR

(a) A firm whose cost of capital is 10% is considering

two mutually exclygj, Hie

¢ projects A and B
details of which are as follows -

- —
Items Year

ot A projectB
Cot | 0 [ espe0 | es0om0
Cash Inflows 1 | = 5,000 T 225,000 |
2 __% 10,000 #W
3 3 15,000 % 10,000
4 %22,500 % 5,000
3 30,000 ¥ 5,000 E

Compute the Pay Back Period, Net Present Value
at 10%, Profitability Index, and Internal Rate of
Return for two projects. Which project you would
recommend out of the two and why?  (19)

3. (a) A Firm sells its product at ¥10 per Unit. Variable
cost Ratio is 70%. Fixed Cost is ¥10,000. Present
sales are 10,000 units. Calculate the follewing: |

(i) Degree' of Operating Leverage.
(ii) New EBIT if sales increase by 40%.

(ifi) New EBIT if sales fall by 250, (g



| ptd. and Y Lt ; :
(b) X - . d-are in the same risk class and
are identical in a1 re
Spects except that company

td uses deb :
X L t whije company Y Ltd doesn’t yse

I
dcbt'niizslzzeréd firm, X Ltd. has ¥9,00,000
Debentt 'TYIng a 109 rate of interest. Both

firms €arn 209 ; ;
the ° OPerating profit on total assets

5 lakhs. Th :
Offl You are re equlty capitalization rate (ke) is
15%- “Quired to calculate the value of

. td

firms X i :rd Y Ltq using the Net Income (NI)
Approaci: SO" Calculate the overall cost of
capiml (ko) of both the firms X Ltd and Y Ltd.

(7)
OR

(2) Manoj Traders Ltd has the following capital

Structure :

Equity Shares (2,00,000) 40,00,000
10% Preference Shares 10,00,000
10% Debentures 30.00.000

30,00.000

The share of company currently sells at I25. It is
expected that the company will pay a dividend of

%2 per share which will grow at 7% forever.

Assume 3 309, tax rate. You are required to
capital on

(8)

“OMpute 4 weighted average cost of

€X1Sting .. -
‘g capital structure.

—_— P
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(b) “The cost of debt jg generally lower than the cog |

of equity.” Explain. Also, explain various methoqg

for calculating the cost of debt. (7)

4. (a) The details of XYZ Lid ave g under =
Production of the Year: 60,000 units

. ﬁ
Finished Goods Inventory: 3 Months - ;
; ' ' 1
Raw |

Material Inventory: 2 Months Consumptioy

Production Process :1 Month

Credit allowed by Creditors: 2 Months

Credit allowed to Debtors: 3 Months

Selling Price per unit ¥ 50 per unit

Raw Material: 50% of the selling price.

Direct Wages: 10% of the selling price.

Overheads: 20% of the selling price.

There is regular production on the sales cycle,
and wages and overheads accruye evenly. Wages
are paid in the next month of accrual. Material is
used at the beginning of the production cycle.

Work-in-process involves the use of the full unit

of raw materials at the beginning of the



nmnul‘:lctm'm;z pProcesy and other CONVErsion costs
t.tlui\-:llcnl to 50%. You

are I.(..{.]‘]iltlll l{\ l”"x‘ Out
the working ¢

aptial OF XYZ Limited. (8)

(b) xplain the major ‘lck‘rlnm;mlh‘ of the working
L.;,pjml needs of g l)llsincss firm. (7)

OR
(a) The following data jg of Frank Ltd.:

Existing Capital Structure: 10 lakh Equity Shares
of 10 each, Tax Rate j5 500,

Frank Ltd plans to raige additional capital of 100
lakhs for financing ap €xpansion project. It is
evaluating two alternatiye plans:

(i) Issue of 10,00,000 equity shares of %10
each and

(i1) Issue of 100 lakh debentures carrying a
14% interest rate. You are required to

calculate the indifference level of EBIT.
(3)

(b) The management of A Ltd is considering changing

its present credit policy the details of options are
8iven be]oyy -

p.T.O.
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T —— B R
FCr’edit Policy Present | POLICY | m il ‘#glﬂCY Iy |l
Sales 21,0000 | 2112000 1 2120.000 21,24,00
Vanable Cost as a 80% - i 80% |
0/ %0 0 .1
Fixed Cost R12,000 | 12,000 | 212,000 iy’
Average 30 dav 2 75 days
Collection Period. S | 45 days 60 day
PR

The firm’s rate of Investment is 20
360 days in a year Advise whiC

n

Ltd and C Ltd:

(a) The following are the details 1€

%. AsSumipg

h optiOI‘l 18 best

garding A Ltd, B

I

[ AL | BLd C Ltd
r=15% r=5% R=10% "
Ke = 10% Ke=10% Ke=10%
E=38 E=%.8 E=%8

Calculate the Value of an. equity share of each of
these companies by applying Walter’s formula
when the dividend payout ratig ig (a) 25%
(b) 50% (c) 75%. What conclusions would yo!

draw?
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(b) Explain the Gordon’s model of dividcnds‘
at are its age - > Vi :
Wh re its ASSumptions? Does the value of the
irm 1s affecte ‘o ICy as
fi1 ected by the dividend policy as per thje

(7)

andCl?

OR
write SHOTENOtes on any three of the following -
(i) ABC analysis of inventory management,
(if) EBIT-‘EPS Analysis.
aii) EOQ Model

(iv) Difference between Operating and Financial
Leverage.

v) Cash Budget. (15)

" .(m) “HT a@mﬂma’ﬁwﬁaﬁmw
Yo WSS B T AT GeHd 87 T il

(8)

(@) W& m%wwﬁwaﬁﬁmﬂﬂ%

W TR w AR e A
) (7)

el

p.T.O.






. 87 THE ey [ -
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. Wmﬁqﬁtﬁwﬁnaﬁmﬂmﬁ
g7
(7)

SR

(=) Wﬁ%ﬁﬁmﬁm%%,a‘rwﬁaﬁm%
Wqﬁa‘mﬁAsﬁthﬁaﬂwﬁé,ﬁﬂw

e MR 3§

A I TRIET A TRISHT B

SINE 0 % 50,000 Z 50,000

Al IATE 1 %5.000 X 25,000
2 310,000 Z 20,000
3 | %15000 210,000
4 322,500 % 5,000
5 % 30,000 % 5,000

A TR & fory Fw T ST, @ e
]0%’mwaﬁrmmﬁﬂa&m
BRI oy S A A e RIS 3 RwRe A
S =7 | 4(8)

P.T.0.
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W) XL SR Y Lid. v & Sfem S0 @ sieard S
2 S T A ¥ w3, R @ B F X
Lid. =91 1 39 =t 2 wafs s Y Ltd. =890
ansﬁzi‘m#é‘fm“réné}aﬁwﬁ,XLtd.%W
$9,00,000 &R ¥ o W 10% & = = 21 o
FAA 715 R F G G W 20% GREE
7w f1 TEE gieor = (33) 15% )
m?]‘rz@m(mlé)iﬁfﬁmaﬂaﬁmm%w#
Xer.ﬂhYde.%@ﬁmmg.m
FAE, o wA X Ltd. ﬁ?YLtd.ﬁqﬁ (-q,lsﬁ)
ZI F9Y A FIE i (7)

J4ar



(=) Wﬁma&ﬁqﬁﬁqﬁ@m%;

IR
gfaact (2,00,000) 40,00,000
o, SO
10 AR 10,00,000
10% Ra=R
30,00,000
80.00,000

FTA IR T %25 WX fwar 81 I8 IW e
SRR R N
m%ﬁﬂ?%ﬁﬂﬁa@mma‘ﬁﬂso%m
w'mﬁ@“ﬁquﬁﬁﬂﬁasﬂm
S S )

(@) “F A I R W Rl A wwE A w9 A
17 R T, W R wwg S o S R
Adel Sl TR g (7)

4. (&) XYZ Ltd.‘maﬂuﬁqagu-g\:
af & IR 60,000 THEAl
R AT G 3 e
e Aol G GE: 2 T S w
I Tl 1 e

AR g wE PRE: 2 W
P.T.O.
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éqaﬁaﬁ%ﬁfzﬁm: L
fadt woa vid zens 250 URY afe
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e fahl Iea @ 209,
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| Ut R SR A ¥ feer wrr 31 SeET W B
wmﬁmﬁwmn%mwét'ﬁ*ﬁ‘m
¥ Ao e 9 gesrs ¥ we wer H I F0R
T ITANT 3 50% & SER 39 TAT AN e
Bl SRt XYZ Ltd. =5 wiisier go0 o7 9a @e|

B i R

(8)
(@) Tl =a=aias w9 o wEEe ol STasashdist &

v i el o W SR . A7)
| Srdl
(&) FefoRaa Ber e Tfids = 2

HISTET Yot GeEn: 210 TROE & 10 W SRS 3Rm
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(i) %10 wfd = 10,00,000 SfEFET TR T FEA AR

(i) 14% =T & T 2100 @R AR W ST
EBIT & smftmmr @@ @ woen ot (8)

(@) A Ltd. 7 VET SO ada wise Afa N een
w R o <@ 8, fwed o fawer 9 e w2

HfRe yiferdft g9 giferft 1 qiferfy IX | wiferdt I
fa#r 21.00,000 | %1,12,000 Z1,20,000 | X1,24.000
T FEUH _

.‘ gl ‘ 80% 80% 80% 80%
fRgv arg 212,000 12,000 312,000 212,000
e FuET FA 30 f&w 45 e 60 &= 75 =+

o 9 AW = 20% 21 U 99 ¥ 360 R AR §W
qera AR fr w-a feer vl FST B

(7)

5. (%) Frafafgs faawr A Ltd., B Ltd., 3 C Ltd. ¥
a7

P.T.0O.
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. All six questions are compulsory.

3. Attempt any two parts from each question.

1. (a) Solve the equation: 4x3 — 16x2 — 9x + 36 = 0,

given that one root is the negative of another.

(b) Solve the equation: x3 — 3x2 — 13y + 15 = 0 whose

roots are in arithmetical progression.

p.T.O.
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(c) s
) OIVE the equation: x3 — 28x + 48 =

0, given thal
two roots differ by 2.

(2) Find equation of lowest degree with real
coefficients which has two of its roots as 1 and

3491 ;

(b) Find an inferior limit to the number of imaginary

roots of the equation :
X6 -3x2-x+1=0

(c) Find the four fourth roots of —1.

3. (a) Remove the second term from the equation :

xt+ 8x3 +x —5 = 0.
(b) Solve the following equation by Descartes’ method:
x* - 3x2 + 6x — 2 = 0.

(c) Change the equation: 3x*—4x>+4x*-2x+1=0
into another, the coefficient of whose highest term
will be unity. Also remove the fractional coefficient

1
from the equation : x3 —ixz —--—7—x+-——=0

18 108



1265 3.

1 (a) Solve the following equat'ion by Cardon’ Metho.
y? — 15y - 126 = 0.

(b) Find the equation whose roots are the roofs of the

equati(;n:
4x> — 2x3 + 7x — 3 = 0, each increased by 2.

(c) Reduce the given reciprocal equation of even
degree and of first class:

If a, B, v be the roots of the equation x? — px* +
PX-r=0.

(a) Form the equation whose roots are

1 1 ]
+—, YO +—, aff+—.
By = 5 B

Y
(b) Find the value of 2o,

(c) Find the value of Zao?’.

P.T.O.
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6. (a) __6-’-'"0

The roots of the equation: x? — 6x>+ 11X

are a, B, y then form the equation whose T
are 2 + y2 42 4 a2 gdid B2

oots

(b) If a, B, Y be the roots of the equation:

X* + px2 + gx + r = 0 then form the equation
whose roots are af + ay, ap + By, By T &7

(c) If a, B, y be the roots of the equation

x3 — px2 + qx — r = 0 then find the value of

(B +y)(y +o)(a+B).

(2000)
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L (a)

(®)

2
Apisal’s Ltd. Commenced business of supplying Apparel for kjq up to the
age of five years in NCT of Delhi on 1% February, 2022. During the Snzneial
year ended 315 March 2022, its turnover was RS- 1500000. However. on
5th December, 2022 it has crossed the turnover of Rs. 4000000 during the

financial year ended March, 2023. It has applied for registration under GST
on 1% January, 2023, within one week certificate of registration was granted.

Answer the following questions on the basis of this case with the help of
stating appropriate provision of CGST Act.

(i) What is the effective date of registration?

(i) Whether the Company is required to issue revised tax invoices or not.
If yes, then for which period Ansal’s Ltd is required to issue revised
tax invoices? (6)

What do you understand by the term RCM and FCM/NCM? Classify the
following transactions or activities under RCM and FCM/NCM (7)

S.N. Transaction

6)) Services provided by an author to publisher by way of transfer of

copyright.

(ii) Services supplied by recovery agent to individual person

(i) | Services provided by Arbitral tribunal to an individual

(iv) Services supplied by insurance agent to insurance company

) Representational services provided by senior advocate to a dompany

(vi) Supply of food cans by a registered supplier to the Public Ltd.

Company

(c) Explain briefly the concept of Composite Supply with the help of suitable

example. - . (2)

‘OR
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3 = .
A ber i rovis . A U
i"puts the provision of CGST Act, what is the time pﬁrl?ved pack by the
Aand capital goods sent for job work have to be recel‘ ed in the time

Pring;
t-:lpal and what are the congequences if these are not rec®” 5)
Speleied?
(b) 01'[ 181 Ods or SerViCCS

November, 2023, Mr. Rajeev (of Delhi) supplied £°
XYL T (Haryana). Taxable value of supply is Rs. 42
¥0Vember, 2023, Rajeev supplies gbods/serviccs to PQR Lt . s T
axable valye of Supply is Rs. 8700000. GST rate is 12%- Rajeev has
fOHOWiﬂg balances of input tax credit available in his electronic credit Ie.dger-
IGST: Rs, 760000, CGST: Rs, 340000, SGST: Rs. 370000. There 15 "
other transaction for the month of November, 2023. Find out the amount of

5000. On 15t
d. (of Delhi).

GST payable for the month of November, 2023. (®)
(c) Explain Briefly the concept of Mixed Supply with the help of suitable example.
| ()

2. (a) Write a short note on the following as per the Provisions of CGST Act
| (5)

(i) E-way Bill under GST

(ii) Bill of Supply

Suraj Ltd. is operating in the state of Haryana only. During the Financial
year 2022-23, the inward supplies of company included one supply (Rs.
500000) on which tax is payable on the basis of reverse charge mechanism.
ils of the company’s outward supplies are mentioned as under-

(b)

The deta
g e L ‘ e T A
—(—i;-""'" Supply of Taxable goods and services *'---3:-(.).?_0_(_)3_
EEU/P’E&E Exempted goods and services M
iy | il s | k. 200000
R
i‘z—/J ﬂ,{ goods under reverse cha%'ge _’ﬂ

RPT.O.



3067

G actitioner, you are required to answer the fOllOWing
. . Pt . e .
As a gprovisions under GST law on the basis of above infonn Stiong with
A

the help B tlon.
(@ There are tWO types of supplies under RCM basis namely Iy, ’

outward supply. Explain and indicate the amount of supply y;,,
considered while computing aggregate turnover?

SUpply and
Wlll not be

what is the Value of aggregate turnover as per explanation J o¢ ¢
_ _ €Ction 22

(b)
of CGST Act, 20172

On the pasis of aggregate turnover, do you think that Suraj Ltd. is ljap]
registratiﬂn under GST? e for

(c)

(d) What will be you answer, if in place of Haryana, Suraj Ltd. ig Operating in
Nagaland. (gl(l))

OR

E_Xplain briefly the term “Casual Taxable Person” and “Non-Resident Taxable

(@)
Person” under GST Law . (4)

(b) Mention the cases in which registration is compulsory under section 24 of
the CGST Act? (5)
(3)

(c) Write a short note on the following

(i) Provisional assessment under GST Law

(ii) cognizable and nc;n-cognizable offences
(d) What is the time limit for issuance of tax invoice in the following 035332(3)

(i) Supply involves movement of goods

(i) Continuous supply of goods
' ' or return

z . : [Sale
(iii)y Where the goods being sent or taken on apprc'\’ﬂ‘l 10

5 ple event
: at 18 taxa
3. (a) What js the relevance of taxable event in any tax law? wh ()

for levying GST?
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) pe treated as

(b) State with reason, Whether the following transactions Sh?

supply under GST:
rvices to Ms.

(1) Mr. A, a partner in partnership firm pays for architec! Sesidcration of
Y in U.S.A. for his residential house at an agreed ¢°"
$5000. '

i company
(i) Holding company provides corporate guarantee to subsid1ary

- : s charged
for enabling them to raise loan from banks. No amount W2
for providing this guarantee.

(i) Company guest house given to an employee for his personal function.
No amount was charged by the company from an employee.

(iv) ABC Ltd. donated its old laptops to a school without consideration.
No input tax credit was taken by ABC Ltd. on the purchase of such
laptops by ABC Ltd.

- (v) X trahsfers_ 500 bonds of A Ltd. to Y for a consideration of ¥ 1,25,000.
Date of transaction is July 20, 2023. (10)

OR

(a) Mention different methods of computation of VAT. Which method of
computation of VAT is similar to Input tax credit under GST? (5)

(b) States shall be compensated for loss of revenue on account of implementation
of GST”. Comment on this Statement. (10)

(a) Determine Time of Supply in the following cases:

(5)

i) X Ltd. is engaged in supply of two different taxable Servigeg namel
Gym ServiceS_ and Hair Treatment Services. It issueg Voucher of'}?r
12,000 to Y on 12th January, 2023. The said voucher cap be redeemed
within two months from the date of such voucher for Cithe ofItne
aforesaid services or partly for each of the two aforesajq Servic W)c()
redeems the said voucher on Ist March, 2023 for Hy;, reates.
Services only, Determine the time of supply of voucher, e

ET0.
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i) M A is supplied goods t0 Mr. B on 20th June 2023 The i
(ii on g00ds is changed from 12% to 5% w.c.f. 28th Jupe 2022~ Mratc
issued invoice on 21st June 2022 and paymcnt is credited in hls br. }'l\(
d
sccount on 30th June 2022. n
(b) A Ltd. 1 engaged in manufacturing of footwear in Uttar Pradesh a4 -

under GST- Mr. X is marketing head of the company who often has to visits
0 many clients across India. On 1st March, 2023, he Visited to his client in

Dehradun-

For this purpose, he incurs the following expenditure:

(i) Delhi=Dehradun business class air ticket (paid to Air India, Delhi):
725,500 + GST (12%).

(ii) Incurred total expendit‘ure of ¥ 8,800 in a Jal Mahal restaurant of
Jaipur for his meeting with the clients (GST rate 5%).

(iii) Hotel expenditure (paid to Trident Hotel, Jaipur for 3 days): ¥ 18,000
+GST (18%).

(iv) Dehradun-Delhi business class air ticket (paid to Air India, Dehradun):
Rs. 24,000 +GST (12%).

These expenses are borne by A Ltd and GST No. of A Ltd. is mentioned
on all invoices. What is the place of supply in these cases? (3)

(c) Deep school, Delhi has engaged supplier for the following goods/services:
(i) ABC transports for providing buses for the school students and staff.

(i) SGF food suppliers for arranging mid-day meals for the students
sponsored by the Government.

- (iii) Xy printers for prihting of question papers

(iv) Bought 10 instruments and 10 apparatus for the gcience Lab of the
School.

Discygs the GST chargeability of the above supplies g
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3.

T
OR

(a
) M/S X ment school in

(b) Dj
) 18Cuss the following cases:

()

(a)

B \;Z from north Delhi provides note book to a gover™ 00 note books
; * Frice of i ! i
each notebook is ¥ 60. School purchases ment (g1ven

Apri 2
023.% 30 ' jGaVEr
a7 per notebook was paid by the Delhi GO om the funds

y to the sch book w d fr i
B B B e 1) ks were given

In

I'ece .
'Ved from an international NGO based in USA, Notebo©

to the o
; andl.le Children at a price of ¥ 10 plus GST. Compute value of taxable supply
tota] invoice value. (5)
()

(1) Freedom footwear, a registered supplier in Delhi deals with supply of
shoes and sandals in Delhi only. Its aggregate turnover during the
financial year 2022-2023 is ¥ 52 lakhs. Besides dealing in footwear,
it has rental income from a commercial property in Rajouri Garden,
Delhi. Amount of rent is ¥ 80,000 per month. Freedom footwear avail
composition scheme with effect from 1st April, 2023. Discuss whether
Freedom Footwear can opt for composition scheme under Section 10

of CGST Act.

(ii) Sugam Enterprises has two registered business verticals in Mumbai.
Its aggregate turnover for the precedi'ng year 2022-2023 for both the
business verticals was I 1.2 crore. It wishes to pay tax under
composition levy for one of the vertical and normal scheme for another
vertical from April, 2023. Can Sugam Enterprises opt for thjg?

Write a note of Zero-Rated Supply? -

% component was imported by air at CIF price of 10000 USS by 3 importer

Situated in Delhi. Freight paid was 3000 USS$ and insurance cost Wwas 1000
e banker realized the payment from importer at the CXChange rate

uss. Th
of Rs- 72 per dollar. Central Board of Indirect Taxes and CUStoms (CBIC)

notiﬁed t

he exchange rate as Rs. 70 per US$. Find the value of Component
for the purpose of levying duty. Also compute the duty Payab]e by

impofted !
that the BCD is 10%, Social Welfare surcharge is jq,
41V0% and

aSSumirlg : ;
; rare of integrated tax is 12%.
licab® ety ~ . G

app
22T.0.
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3067 ashort note on taxable event in case of Export
yrite |
LA

i : | (3)
ﬂical service is prov1ded by Mr. Jhonson (located ip Usa)

e _ :
() ;[ishﬁaLtd. (located in Delhi). Value of supply of service jg p, :(]E\ama
qvice is provided on 28th February 2023. Find the 3mou;;t fgﬂso.

oI GST

Thest¥'" =
and 350 mention who is liable to pay tax?

(3)
OR
(@) Brieﬂy explain the provisions relating to determination of taxable event in

case of impoTt. " 3)

(b) Brieflyexplain with reference to the provisions of the Customs Act, the
relevant date for determination of rate of duty and tariff valuation for imports

through a vehicle where bill of entry is filed prior to the arrival of the vehicle.

3)

(¢) Rama Corporation Ltd. imported some goods from USA. The details regarding

transaction is as under:

Authority Rate of Exchange
CBIC | . 1 US$ = Rs. 80
i [ L MR
RBL 1 US$ = Rs. 82
By

: ~ e i
CIF valye of the goods is $100000. Rate of basic custom duty 15 1_0/"’ IS
of socja] welfare surcharge is 10% and integrated tax Late is 18%: You are

equested to compute total customs duty and integrated pay?

ot named as

(d)

M/s L akshman & Sons, registered in Delhi, owns a restaurd

4 g ; 7.
Yummy Food” with a turn : . cial year 202
o nan
y ver of Rs. 120 lakh in the fi ' intra-state

2023 1y view of the growing customer demand, it will also 3 ;

faging of mineral water and juices in Delhi. You are roquired 10 T T
Whether the supplier is eligible for composition levy u/s 10 of
nd what V{Ollld be the applicable tax rate in such a case?

the CGST Act
(5)
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(
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(b) 3T RCM 3k FCM/NCM T ¥ =07 wee 27 Frfufaa ames ar aifatareal

=}

RCM 3R FCM/NCM & siafa ailigal ShifTg | (7)
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(iv)
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()

FTIREE & B0 & W ¥ Rl das gh s S YeR &)Y I8
Jaw
a@?qﬁ?mﬁ?ﬁaﬁﬁaﬁmaﬁnﬁw
l— z
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i )

Rl
o e TR A FHER A B s

et
ﬁaﬁaﬁwa@mmmﬁnﬁmﬁmﬁmw

(i)

(c)

.—---"""--...

cxcCiy
il

o & B D gorg
—— R T
i

e T HET A TR SR (Composite Supply) T STTERuy T AT
e | (2)

- PTO.
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) e SO s, e B e
mﬂ«ﬁ“ﬁﬁ%%fﬁsﬂ%wwﬁmaﬂ? (5)

(b) |4, 2023 T oft T (RN o) T XYzt (aRarom feorer) = gt o
| @ﬂﬁﬁmﬂ'aﬂﬁwmmnmooo*@'@mnsw 2023
mﬂﬂﬁPQRﬁ'ﬁé@( freelt) T RIS /AT o SR &Y | S o A A

1 $100000 T 21 | Shewdl T 12% B st Tollg B FATCIS BT Ao A TIC

3 3RC 0 PefaRas 3w Oflr I - IGST:® 760000, CGST: ®. 340000,
GST:® 3700001 WE HaeR, 2023 & fow =g o4 AT & fawar W@ B AE

| w2023 D forg 3 e SR AR A ToEm AR (8)

(c) JugEd SETEWT St wewa ¥ AR Smaft (Mixed Supply) =} SrEewRen <t werd
¥ g (2)

(a) dcfvedt SRR & W ® FeER Prfiae W U R e fafew (s)
(i) GST & gt £~ faat

(ii) smafet =0 foet

(b) wf@ﬁ%ga“ﬁagﬁ‘mwmi’rmw@%uﬁﬁaﬁ 2022 -23 & TR, S
# e S ¥ T YR (500000 T WA B, @ w Red =l yomel &

aﬁmmm%ﬂ%laﬁﬁw mﬁmﬁamﬁmqmsﬁaﬁaa% (10)

2.

w5 | ow aﬂ‘lﬁ - (=)
(i) & AT TG AN e I 300000
e o

(i) - T W TG AR A A I 875000
st At - |

(i) v TE @ w0 F T A A 500000
(iv) Red T @ e TR ) AR 225000
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Q?ﬁ%a 11 | | é‘;m
TR 5y S Wmmﬂ%mw@@ﬁm
_ N Vet 3 FERIRE S o e 31 BN

mwa L S ] mmﬁaﬁrﬁﬁ:ﬂ:
e v B T B s g BT R g OO
WY Ryar 8 T s 27

:?Waamﬁm 2017 & awr 22 i A B mwzﬁ@ﬂﬂmw

R B TR & R WV, Eﬂramﬁm?ﬁmﬁﬁﬁaﬂ@ﬁﬁawm
ISR F foyg FaErd 27

| |
(d) S e fefre o <8t e e 3 e R T B 6 e I N B

31|

(a) SieEd wFE & sl AERIE o) A st ok CaRaE @) ard -

i’ wee T 8T A THAET _ (4)
(b) wmmsﬁﬁaﬁﬁqﬁﬂ%ﬁﬁmﬁﬁrﬁmﬁﬁm & Fid tm"ﬂmur

e 27 8 (5)
(o) o e e e feont R ' (s)

() et e s e
(i) W S ST
) e T T R o e e kg
() mﬁﬁa@ﬁa&mmﬁa%
(i) e 1 s

(m)wa@é’ra%ﬁaﬁmmﬁr% a@ﬂwﬁmmwmmg

PTO.
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3067 ﬂﬁwﬁmﬁmaﬁqaﬁmﬁmaﬂr%?ﬁmm%mm

a M :
5. ()ﬁﬂé@qmﬁ? 5)

: A & Fiq
) a1 B BRI AR TR 3 e

et (10)
(i)ﬂﬁAﬁh%Wtﬁﬁﬁm?,'ﬂﬁaﬁm saReT X me%m
gfee daa @ fre TR Y $5000 SUSIEECE]

(i) ﬁﬁ%ﬁﬁﬁwﬁﬁaﬁﬁﬁwgﬂ%%ﬁ?ﬁ%mm
ﬁ%l%ﬁmmﬁ%ﬁqﬁtﬁmﬁﬁﬂél

() TR A B o A e PR S R v
[ IF FHAY A A AW T A T

(iv) ABC forfirs = fam e fore Y R AT T T B 9 w291 ABC
ﬁﬁﬁm@ﬁwﬁﬁﬁmﬁwﬁﬁﬁ%&rm o

(v) X ¥ Rs. 1,25,000 % AT R Affs = sduaﬁYaﬁmﬁamﬁm
Jor- 7 % A9G 20 AL, 2023 B

aa

(a) Waﬁfﬁaaﬂmﬂtaﬁma}ﬁ%aﬁaﬁmaﬁaaﬁmA%aﬁmﬁ

TGt fftr Teadt & e I O WiST & T o7 (5)

(b) ol =y cadt S Y @ T B e o wify & forg o (e e

W wyT W ol i (10)

4. (2) Prafyfa wwel % saft @ @ iR Ak (5)

(i) X fofi2s 2 FTort - e o A AR St Forr e e i o ITR
JaTg YEH HE 81 T8 12 FaAd, 2023 A Y Y Rs. 12,000$‘mmﬁ
T 21 T SR R I A A A A Ry g D O© R &

3 e e A @ oy R R ot ey A
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%%ﬂmmmmél X Jere S H 1 AR, 20237"?[ el
STUR Jarst & o smmr @) qe A AU @ e

(11) ‘ﬂAﬂ"ﬁBa’ﬁéﬁiﬁ'zozz o A1l 1 AR =% 21 28@:r
R Shrgadt R 12% ¥ wewaw 5% ¢ AT 21 A ¥ 21 2 . -
ST foanr 3R 30 S 2022 aﬂaﬂ%%mﬁwﬁmﬁm

b) A fuig O

)_A Wﬁwi’faﬁ%ﬁmaaﬁgﬁmmaﬁh :";'

T X ek R e e e e ¥ o e 4 P
19, 2093 @ a8 AU WEw ¥ Frer JeTE TN

(

T W % fore, 7 P e

(i) Resh-merger R e wardarn e (v e, Rt 1 ) T
25,500 + wigEct (12%)! |

(i) TR B T Hew & A Weeh! F FAB o ¢ Fef 2. 8,800 @ Al
(Shwacdt R 5%)1 .

'(iii) Sree = (3 R & forg grede died, SR I EF): 718,000 + SGECT
(18%)! - S

(iv) Yo - Rl fieme oo a8 9 e (v <4, T80 St sywrar):
524,000 + SHEEE (12%)!

| ﬁﬂ{[AﬁrﬁﬁngﬁWﬁﬁﬁaﬂTﬁmﬁﬂAﬁﬁﬂgwmw
Wmm%:wwﬁfﬁmﬁaﬁ@qﬁrw%? (5)

4 aq@,ﬁaﬁ%ﬁﬂﬁﬁdaa@aﬁ/%mﬁ%ﬁqﬁﬂ%ﬁamﬁﬁaﬁﬁﬁﬁ
S |
Wmmm@:ﬁ%mmﬁawaﬁmﬁms@m

2TO.
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3067 . F 2 R XY D ekl |
(i) g™ A Tl

(iv)@aﬁrﬁmqwa’?fmwmaﬂzm ﬁtﬂﬁél

Ww‘ﬂﬁaﬁiﬂmnﬂﬁﬂf“ﬁw:
a

S et @ e xvzﬁﬁ%ﬁmﬂwﬂmﬁaﬂiﬁaﬁm
(e Waﬁaﬁ'ﬂﬂ“ﬁ. 60 21 A T A 2023 X 4,500 TCIH WS Rk e
< 30T S (zagqa%ﬂﬁqﬁ%mﬁﬁmﬂm)ﬁﬁwgmmwaﬂ;
< g0 1 TR T S W Uod SRR e T ST TRAH J e
oftr & T T S Y 10+ SNEEE B e W ACTT I FWEA T
A SR SR e e R IO A (5)

(b)ﬁﬂﬁlﬁaﬂ'ﬂmﬁq{ﬂﬂfﬁm: (5)

(i)ﬁaﬂquﬁﬁgﬁwﬂﬁﬁﬁﬁw@ﬁm,%ﬁﬁﬁﬁﬁ@ﬁzw
& s e 31 fea ad 2022-2023 @ I A FA FREAR
%, 52W§|@ﬁm%mﬂaﬂ%m,mﬁﬁﬁ%mﬂﬁm§?ﬁw
mﬁrﬁﬂﬁ@%%ﬁ?ﬁﬁmmﬁﬁ%lﬁﬂﬁaﬁuﬁmaomoﬁﬂﬁ
2| ¢ieH welaw 1 I, 2023 ¥ FRRET AerT S T oI 81 T
m%wmﬂ@ﬁmwmaﬁmm%wﬁ

R A W e O g 21

(ii) wm%ﬁﬁamﬁwwglwﬁ 9022 -2023
& o AR e g & fory gae e R & 12 0 1
Fo, 2023 ¥ V& T D BT FANI o B ﬁﬁaﬁtiﬁ@”%
forg AR AT o mwwwﬁﬁmm%‘ﬂwm@m
Yar fased 7w 27

() s _32s e v o oy 7 | (5)
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5 (a) T R oo SIS 2R/ 10000 aﬁaﬁﬁmﬁﬁmiﬂﬂﬁﬁm-
W%mﬁﬁWW|m@gm§nﬁmsouo mﬁaﬂﬁmﬁmmmm
Wﬁmeﬁlﬁaﬂaﬁm%nmﬁﬂﬁmﬂaﬁmaﬁﬁﬁﬂﬁww
T E3M Rt A IR IR Gror 3o S (‘é’lﬁm)?fﬁﬁmﬂmmm
mﬁﬁﬁmamﬁa&qﬁaﬁ;mamammﬁﬂ@m
A 27 3o A a5 A AR B AR 109 3, TR o
HENR 10% 2 3 TEIFd R W 12% 2 | (5+2)

(b) Fdid & T ¥ o 9 IRT ® v v AT fRae : (_3)

() N Siw (sl ¥ Reaer) g T o FifRe (Rreeht & Rere) @ Teiienl &l
WISl SR 2 1 ¥aT SIS B 7w & 500000 F 3R T 28 HREd 2023 T HEH
i TE 21 Shoad o) A e Y IR T8 W R R o H S
FH & forw b seerd 27 (5)

at

(a) ST s ¥ o e A Freficor 3wt W w3 e i,
| (3)

(b) €T Yo JRAFEE & WEEEl F G F 9T F WY, qET D e T 2
fore e &t T SR Pooh Aedich o U it wERE T, Wl e g a—

J Yed WM o e elae faar s 2l (3)
(c) T HIdRT ffIes ¥ e A S WAA A foam A ¥ ey
faa‘{'ﬂ'[gg
W%:
wiferasrt - faffra at |
AR aA 1q § =% 80
s o ¥ =t

a@aﬁmﬁmWSloooooﬁlﬁa?ﬂmgﬁaﬁa}o%,%
9 TF R "
aﬁﬂﬁaﬁﬂw%sﬂtwiﬁaﬁﬁwﬁ%liﬁaww W w3
<
g @ TR ST | [ (@)
Rivifol
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() e VA e 42 9, A g e 0 Y R, ey

péaal 20222023 ¥ el FUAR 120 Wﬁmﬁglmﬁﬁa@ﬁ}m@,m
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(iii) White Revolution

Green Revolution™ played a major role in
1 'ﬁbﬂfiﬁnuﬂt}z in India. Justify this statement
- * madmtages Also mention if it caused
intage to the environment. (10)
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‘What is the theme of the poem “On Killing a Tree”
by Gieve Patel. (5)
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